R Ji 5 K %
A A AR N 225
(201% %)

R H AR WS A REHS: 722

ERED: 1. REEBIL N ERE GEE 24 AN, TS 150 4
2. AERAEE, BUANASEE, EE-BE5ELEEE L, SEZREE
B FHT. BEREREEE, FEERE LY,
3. DAHE. BWMESKEBRESE, REWLx.
4., BERVFREAEETES 7

* ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok ok k ok Kk Kk ok % K kK K k Kk Kk k ¥ * ¥k k¥ ¥ %

—. BATERERE (AL S NI, BT 44y, B4 20 40

x2-2x+a
]' iﬁf(x):{ x__3 3 X¢3
4, x=3

(B) -1 (c) -3 (D) 3

-~

fEx =3 4bEEL, Ma=( X,

(AD

L |—

2. THIFMEHR Y Ax > O8], i £(x) 7E x =x0 A AT S HIHI 12 ( ).
(A) AvE5 Ax 2N D

(B) Ay5 AxZFRIB LS

(C) Ay R AR /N

(D) Ay & Ax BARF TG 55/

3. B (S0 o) BEREL £ (5o ) =00 L £, (g2 v) = O HRSL, TR FILE i TER
12 ( ).

(A) FP (X5, ¥,) & f(x,y) BIRRAE S

(B) R B(x,,1,) 2 f(x,y) B/ ME A

(C) KR (g5 7) £ f(x, ¥) MIBCAAE AT

(D) FmPy(x,,¥,) ATRER f(x,y) HItK{E &

4. THIRORE bR B ( 5

Oon_z 0 I O ; n
(A) ”23” (B) %MHH) (C) %(3) (D)

i
=
I

&
=i
~~
N

/|

(U]
=i
—t




S WERMETLRREL y,, vy, y; TR T AEFHREIERL S 712 " + p(x)y +q(x)y = f(%)
B, Cr Co AMERSE L MZAETF R R il AR 2 ( 3

(A) Cry1+Chys+ s

(B) Ci(y1—y3)+Ca(y2 —y3)

(C) Ciy+y2)+Ca(y2+3) -3

(D) Ciy1+Cayr +(1-C1=Cy)ys)

T B R S NI, BANES 4y, WS 2540
L% f(a) e, W lim 2(@=a/()
x—a xX—a

2. % )= [Flode, W fGo) M LR

: Oz
3. Wez=+xy)Y, ME|,._, =
( y) oy ‘L];

4 B SO EER [ ()= xp+ [[ fCoy)dedy s Forb D R

y=0,y=x,x=1BROPEXR, W/ (xy)=

5. WHHIE Y =xy+y HEEM p(0) =1 FIKHE R

=N HEE CREEE 6 N, BNE 10 4, 4 60 4

1. RHE lim\/1+tanx—\/l+sinx'
=0 x/1+sin2x —x

x=el e s dzy
J’=lntan% FTERIREL y = y(x) W~EJ|§§4IHX—2.

b

KBHITRE {

3. i s [T
2
4.&@ﬁz;ﬂm—x;mnw,ﬁ*fﬂﬁ:MEﬁﬁ%ﬁ’*;;
X

wn

 HEZERS ([ e Ddxdy, Kb D={(x,y)|x2+y2 <7}

&

T EB [y dxdy, Herb DREFEEINL y =5, y=x2
PR R 0.
%2 5 Gt 3 D




VY, B8 GREIE 2 /NG, /AR 124, 5 24 40)
L wEREgy S 2207
' X ” n=1 2?1 _1 ’

(D RFHEAWSECEER (2) KR GEAENTSRX 7] A A0 ek 2.

2. IRTFHIMS 778
(1) KA xy/+2p=xInx HEEM y(n:—g HIfR.
(2) REAHFHRyy"+y2 =0 WREE y(0) =1, y'(0)=% (5.

Ty UEBHRR (A9 9 43)

WM £ (x) 2 [a, b] EHELE, 15 (a,b) WS, H f(a)<a, f(B)>b, WRiF:
(1) AR f(x)—x=07(a,b) WELH —LIR;

(2) BOHEAE—HEe(a b)), 8 (&) >1.

AN RIS GRS 12 40
BERH y = f(x) 7£(0,+00) FiELE, HHLy=f(x), HEx=1, x=1(t>1)
T x T ) TP xR — PR AR PR BN 22 £ (0 - £ (D).
(1) 3Ky = f(x) B & mscs

@ KW IR A v, = E 02,

(3) 3K (2) *R BTN R 2L 7E (0, +o0) L AOARAA.




